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110,000& 602 6,600
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202 Odl 7,280 7,280 0
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OAHYRFE Kbl 7,280,000 x 14! 7,280
S&otn SHs AHael 45,970 213,320 A 167,350
201 Yute | 37.330 40,830 ~3,500
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01 At 22l 12,318 12,160 158
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DEINLRES 70,000 =150 »22] 2,100
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750,000& *4CH*13]*30/100 2,700
DESEE A NSIAM(HL10%E Q)
90,000& *6CH *13/*30/100 486
DESEUHE NSIHM(HZ10%E Q)
150, 000& *2CH 13/ «90/ 100 270
DIEAE NSIM(HZ10%E Q)
70,0002 *3CH*13]1*90/100 189
DIEE - HE NSIA(HL10%E Q)
140,000& = 1CH =13/ «90/ 100 126
DASHASSEA =22 (58 - S8 - USH
X2 25,000 =240 » 12 600




S RECI ()
Hu: sos 3Ny
Ee: AEE g A2 ool E )
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
PUSHEEZ(58L -5 - HE)
450,000 +8CH » 12 3,600
PASIAEES(SEBUSHEY)
400,000& *5CH*13] 2,000
DASIAEES(SEL -5 - UHE)
700,000 +8CH*13] 5,600
PASIAEEZ(ASS - 48)
500, 0003 *4CH*13] 2,000
O4 Xtg - det| 131,815
DAUgERXE(E24E) 4,987,000& =4 CH 19,948
DAHRXE(ESEEEH) 6,867,000 *1CH 6,867
DAgRXE(E2UE) 10,000, 000& »3CH 30,000
PUERXH(SSUSEEE)
3,080,000 =4 CH 12,320
DAERANB(SEEEH) 3,993,000 x6CH 23,958
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